TE1RINE LB RS
BTk, NEE S
WwEMHE, T/EEEAHA100 mm

novotechnik

Siedle Group

AR R M ST, TR AL, WEE S KRG, d
Tk VR A i A L DN [ W A O B RS B H AR L A A
PSSR AR bR R, RIRTE S, BRI,

F EAR AP FE BT IR I B B8, U BT W o b R 2R
PR SZEE, ZBIRON T A5 204 R0 e, i F gt 17 00 g e
HI — &M N5,

BT 5 v 1 B R BRI THE TR, R AT LS
EHE, BT R TAR R, BB RS R ES T

AN
Ha
o fEHHMIK, MARMHSE, BITREAEL 100x10° Kigsh
o MLy, &Rk £0.075%
o i B HRAE S
o mkA L A sl Sk i HE U
o 3 AR T ke
o Wikt SCEERLAT
o Hiahii PR HERE IR S
|
s 5% BRAR AL
- n PR e
B #F A, AISI 303, HFBj kR IER, EREIM2.5%6
D04 i 215 HM2.57RAE, AR RER
Fe Pk Bt 2 4 S B
R IT LR
R Bt JE % B R, SRk R TE
AR BEM8 x 1Bk, o i

SEPVChl ST, 3x0.14mm2, K2X

TEL:400-900-8812 / 021-51098812 48T : 18017400327 www.volfa.com info@volfa.com



FRAER (Z-45) Al (23-31)
2 8
0!
= 4
[
DIN EN ISO 1207 x
M4x10 16 45
HLE 15 18
e K140 Nem
M2,5x5
1
“
©|
o a —i.l_ .
O T | Q)5
AP AL |q
BURATRE
E’E -0 2l g
-0 8
' 745
<
@ || [@] =
h
o~ | | —sw-10
N
Il \\
o
(r
| Bagik2 m
+0,3]
288
40
29.3

32,5
o
e / ;g
\
205

EEM 33-56/-58/-60

TEL:400-900-8812 / 021-51098812

@10

EEM 33-57/-59/-61

novotechnik

Siedle Group
FRAER) (Z-45) % (Z3-31)
8 8 o °
2 . E 9. E
! U]
| | <~
DIN EN ISO 1207 o~
M4x10 1,6 45
L% 18
K140 Nem
M2,5x5
T 4 B
Lk TTR =
8
~ Z-45
< E
[
@ | @ ©
)
Ll
03 SW-10
288
40
sk Hiimg Rk S
#5101 #5202  EEM 33-56/-57/-58/-59/-60/-61
FHI 1 530 s PerLi g
i 4 1) L 554
3 [FR o) e Hedt

4FT : 18017400327

www.volfa.com

info@volfa.com



novotechnik

Siedle Group

BEFEY TE1-0025 TE1-0050 TE1-0075 TE1-0100
WS B
ShsElE (RUFA) 63 94.4 134.4 166 + 1 mm
HLbATRE (RS1B) 30 55 80 105 + 1.5mm
ik
gL 174 197 228 294 g
AT I 128 152 183 248 g
TAEZ ) URF-I5 1) <25 <25 <25 <25 N
TAEHTIRZ S (k-5 1h)) <5.0 <5.0 <50 <5.0 N
Asiti 1k SR AR T K5 N
IYNIK (3 kS 18 14 11 10 Hz
(CROROR IR T et i 0L TR, B APk b )
[ g WAET ) Jre K FL VP (AP 140 Nem
BESH
TARER 25 50 75 100 mm
iy Ltk +0.2 +0.15 +0.1 +0.075 % FS.
s 2tk +0.275 +0.225 +0.175 +0.15 % FS.
A 0.002 mm
S JeRR
B (BR) >10 kHz
WAT AR i+ 1.0 mm
s 0..10V (r/hagkFbi > 10 kQ, FEHHEIE <10 mV)
HL R B HL 3 10 .. 0V (l/MMAgRBLb > 10 kQ, 5 HES 10 mV)

4..20mA (% <500 Q)

20 .4 mA (fa#k <500 Q)
LR PR A G R e AR )
AR 16 ... 30 \
TAEHLED B ek 10 % Vss
TC G L I D FE <1 W
LI AL <20 ppm/K
PR <36 (KA) VDC
MPERR , R I LR AR A (XA IER)
#%B#i (500 VDC) >10 MQ
TS
TARIRJER -40 ... +85 °C
A A 0 ... 95 (Jor k) %R.H.
HidRshbrdE (IEC 60068-2-6) 20 (5 ... 2000 Hz, Amax = 0.75 mm) g
Yinhdikrde (IEC 60068-2-27) 50 (11 ms) (%) g
Bii$1%:4% (DIN EN 60529) IP 40
Fi i > 100 x 10° b/
MTTF (ISO 13849-1,J¢ i # i Bt ¥ filikE) 25 A

Dyl g R

WAARA R 8 TR AR RS, R A

i EEMCH7 ik

EN 61000-4-2 electrostatic discharges (ESD) 4 kV, 8 kV
EN 61000-4-3 electromagnetic fields 10 V/m
EN 61000-4-4 electrical fast transients (burst) 1 kV

EN 61000-4-6 conducted disturbances, induced by RF fields 10 V/m eff.

EN 55016-2-3 radiated disturbances class B

*) T R S R e

TEL:400-900-8812 / 021-51098812

48T : 18017400327 www.volfa.com info@volfa.com



novotechnik

Siedle Group

LT 5 AR e
4: BHpkbEn
TNAESC T A E A, 3T S A BRB In 2
- g EIEmHESED 4 _
JEE MAARICER B A 22 1, WEk
2: Wi

BNREERHED 41_

1: 0VDC...10VDC (hikF4 it =0V)

2. 10VDC ... 0VDC (HiAF4x il = 10V)

BINRERE D 42_

1: 4mA ... 20 mA (RiFFA B = 4 mA)

2. 20mA ... 4 mA (R4 it = 20 mA)
HSERE
101: 3§FM8x1 Bk, Hhiail
202: NThaAE2K B g

T E 1 i 00 - 10 2 - 411 - 1 0 1
IEREER
kRt UL
E3 ] 0025 mm%0100 mm 102: WA
TERNBEE AL

o 2/ Z-45 4z
o 4/ M4x10 M2ET
o 1 ANEAZUHE 4 ) ik s,

TR ZE SR AT H 7=

o ARMER, RAGERS, . ArES MR g K

TEL:400-900-8812 / 021-51098812

o 4AZ3-31RIIE, & 44 MAx10 BRET
P imgms . 059010

o HiLHJ Z-R50, FEHhgms . 005678

e 3%FM8x 1 MEHSL, 7 PUR Dt T, 3 x 0.25mm?
2 kHgi, WS, EEM33-56, FtignS . 005602
54, WS, EEM33-58, Fm&ignS . 005604
10 k45, %15 . EEM 33-60, /54 : 005606

o 3% M8 x 1 MZE, H PUR bl 48, 3 x0.25mm?
2kigi, WS, EEM33-57, m&gS . 005603
5kmgdi, S, EEM33-59, A4S . 005605
10 kML 4E, BE. EEM 33-61, fh%5S: 005607

© 02/2014

e,
A BAITEAL,

48T : 18017400327 www.volfa.com info@volfa.com





